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AL (1EX0) 1202.10-091 20124£10 TH ~121 Bar

ESE2 FNT B FAM YR B FAM Y
105 FaE N BCICHI[E] 1000 | MT 0 = 0 0 = 0
oal 1000 [ MT 0 - 0 0 0
HEEREEIESES 1000 | MT 0 = 0 0 0
AL (B3) 1202.20-091 2012510 H 1H~12H %5

ESEZ BN | MT B= B T B= B R
105 e N R IR [E 1000 MT 65 199 12,951 12,126 197 2,392,299
123 A~F 1000 | MT 0 = 0 221 160 35,344
304 7 AU 5 IRE 1000 | MT 255 200 50,930 4,615 196 906,258
410 77 )L 1000 | MT 0 = 0 164 168 27,618
113 TP T 1000 | MT 647 184] 119,012 1,966 181 354,904
551 7 7 ) 7 TN 1000 | MT 880 203] 178,436 2,929 196 572,751
601 A — AU 1000F | MT 17 208 3,543 139 200 27,778
o et 1000 [ MT 1,864 106] 364,872 22,160 195] 4,316,952
FEREEEST 1000 | MT 2,455 159 389,216 25,968 153 3,977,914
Al /- B AEE (BR1)) 2008.11-291 2012410 TH~12H %ar

ESE2 FNT = =R ] YR B FAM Y
NEE NS 1000 | KG 396,571 193 76,592] 3,558,618 200 711,914
106 1215 1000 | KG 0 - 0 2.808 504 1.414]
& et 1000 ] KG 396,571 193 76,602 3,561,426 200 713,328
FEREEEST 1000 | KG 175,191 173 30,361 3,770,114 167 630,577
Rl 7B A (2 D) 2008.11-292 20124£10 TH ~121 Bar

ESE2 FNT = =R ] YR B FAM Y
103 K g L] 10000d | KG = =
105 FPagE A BSILFIE 1000 | KG 155,080 0 33,7711 1,455,075 224 325,824
208 ~ ¥ — 1000 | KG 0 0 1,000 306 306
304 7 AV T B RIE 1000 | KG 4,322 194 2.134 60,270 135 26,207
o et 1000 ] KG 159,402 225 35,905] 1,516,345 232 352,337
FEREEEST 1000 | KG 106,431 236 25,111 1,850,265 199 369,071
Z DA A S 2008.11-299
(OSHE—F)) 2012410 H 1H~12H %%

ESE2 FNT B FAM YR B FAM Y
NEE NS 1000 | KG | 3,074,281 212]  650,216] 35,309,329 207] 7,314,357
218 AAo 1000 | KG 821 631 559 1,138 680 774
410 7o)0 1000 KG 0 - 0 675 834 563
oal 1000 | KG | 3,075,102 212] 650,775] 35,311,142 207] 7,315,694
HEREEIESES 1000 [ KG | 3,090,090 173[ 535,183] 38,394,192 167 6,421,994
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Z DOMLE L AL, EED L) _2008.11-120 20124210 TH~120 Bar

ESE3 HLAL BE L ThAE BE L ThAe
NEE NS 10001 | KG 71,622 237] 16,916 761,430 252] 191,886
110 <FF A 1000[T | KG — —
111 ZA 100017 | KG — —
117 74)E~ 1000[7 | KG 0 — 0 3,360 157 526
118 Ao Fro T 100011 | KG 0 - 0 147 193 219
304 7 AT 2 Ze 1000M7 | KG 142.612] 472] 67,298 1,117,519 145 497,598
10 7o) 1000 KG 0 - 0 6,379 196 1,248
it 100010 | KG 214,134 393]  84,214] 1,889,132 366] 691,477
HERAEEEST 10001 | KG 202,648 299 60,588] 2,511,069 315 791,442
B —J o F — (EEE) 2008.11-210 2012410 H 1H~12H 25

ESE3 E = EELTh T BE EELTh (S
EGE NS 1000 KG 343.103] _ 242] _ 83.028] 3.327.890 208] _ 758.652
302 WX 100017 | KG - -
304 7 A) T 2 Ze 100017 | KG 29.215]  357] 10,422 151,104 337 50,892
113 TP T 100017 | KG 0 = 0 19,591 237 1,640
601 F—ARTU 7 100011 | KG 10,080] 256 2,581 33,390 255 8,510
ol 10001 | KG 382,398]  251]  96,031] 3,531,975 233] 822,694
HEREEESS 10001 | KG 290,023 229 66,287 3,128,502 195] 610,120
EACEN) 0713.50-221 2012410 TH~12H %z

ESE3 HAL = L ThAE BE L e
EE NS 10001 | MT 11 91 1,002 1,081 113] 483,936
205 WLl 10001 | MT 0 = 0 53 63 3,627
AVEES 100017 | MT 19 198 3,764 76 196 14,863
302 HT X 10001 | MT — —
108 RUE T 10001 | MT 0 = 0 41 223 9,133
601 & —AFTU T 10001 | MT 98 67 6.564] 956 63 60,180
ol 1000 MT 128 89] 11,330 5,412 106] 571,739
HEREEESS 10001 | MT 35 93 8,337 1,613 117] 539,748
Mo (X AE)) 0713.10-221 2012410 TH~12H %ar

ESE3 HLAL BE L ThAE BE L e
105 T3 N P JE A 10001 | MT = =
205 WLl 10001 | MT 119 85| 10,165 2.261 76| 171,184
207 /N T — 10001 | MT 0 = 0 21 67 1,408
302 HT X 10001 | MT 149 621 27,939 6,276 63] 394,281
304 7 AU 7 & B 100017 | MT 42 73 3,050 1,515 82 123,635
601 A —ARTU T 10001 | MT 0 = 0 761 79 60,029
606 —2—>—S R 1000 MT 30 89 2.676 180 86 11,303
it 1000 MT 640 63 43,830 11,314 70] 791,840
HERAEEESS 10001 | MT 175 71 33,772 11,498 67| 772,202
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Ty 2—F 0801.32-000 2012410 TH ~121 Bar
[H 4% LT B ELA YR B ELA Y
110 XK A 1000 | KG 127,457 451 57,440] 1,060,984 532 564,790
120 o RTT 1000/ | KG 0 = 0 14,424 570 8,223
123 AF 1000 | KG 325,654 628 204,498] 5,052,502 678 3,423,117
125 A5 7 1000/ | KG 900] 1,021 919 7,670 1,295 9,935
541 =7 1000 | KG 15,875 420 6,670 79,375 473 37,540
545 £ E —7 10001 | KG 0 - 0 15,852 626 9,931
o et 1000 KG 169,886 574] 269,527] 6,230,807 651] 4,053,536
AEREEIEST 1000 | KG 519,029 713] 370,029] 5,226,192 687 3,590,782
7T —ER GEAT) 0802.11-200
AL—b T —FLR 2012410 A 1H~12H 23
= FAL pan Al [ (%R T A A
220 A2V 10001 | KG 0 = 0 2,000 204 107)
304 7 AU A AR E 1000 [ KG 9,071 341 3,094 58,525 397 23,246
B et 1000 | KG 9,071 341 3,094 60,525 391 23,653
AR EEIEST 1000 | KG 5,443 365 1,985 242,281 398 96,428
T —ELR RERWIZHD) 0802.12-100
EA—T7 —FELR 20124E10 1H~12H %E
[H % LT B ELA YR B ELA Y
10001 | KG = =
o el 1000 | KG 0 - 0 0 = 0
HEREEIESES 1000 | KG 0 - 0 0 = 0
T —ELR GRERRWZHD) 0802.12-200
AL =T —FELR 20124F10H 13 ~12H BE+
ESEZ BT B= LA T B= LA R
218 Ao 1000 KG 16,260 628 10,212 195,890 599 117,397
220 A Z)T 1000 | KG 10,790 650 7,011 83,190 615 51,161
304 7 AU BB A E 100017 | KG | 1,719,221 461 792,605] 24,713,577 438] 10,820,398
601 A —AFTU T 1000 KG 0 - 0 30,654 518 15,875
o el 1000 | KG | 1,746,271 164] 809,828] 25,023,311 140] 11,004,831
HESEEIESES 1000 | KG | 1,542,745 122] 650,632 21,507,454 142[ 9,500,109
B RAF A G 0802.50-000 2012410 H 1H~12H %5k
4 BT B= LA T B LA T
133 47 1000 KG 0 - 0 33,500 735 94,735
213 KA 10001 | KG - -
220 A ZUT 1000 | KG = =
304 7 AUH G RE 1000 | KG 65,767 717 47,162| 1,443,465 710] 1,024,374
R % 1000 | KG = =
B 1000 | KG 65,767 717]  47,162] 1,476,965 710] 1,049,109
AR EEIEST 1000 | KG - -
VAR T A GREFRWTZHD) 0802.50-000 2012410 221
[H % LT B ELA YR B ELA Y
133 A7 1000 | KG 15,600] 1,674 26,112 91,635 1,738 159,275]
213 RAY 1000/ | KG 96| 3,594 345 530] 3,832 2,031
220 AZ)T 100017 | KG 2,460 4,178 10,278 14,750] 4,568 67,381
234 ML 1000 | KG 0 = 0 349 3,160 1,103
304 7 AUA G RE 1000 | KG 0 = 0 75,110 1,192 89,529
R % 1000 | KG = =
B 1000 | KG 18,156] 2,023] 36,735 182,374 1,751 319,319
FEREEIEST 1000 | KG - =
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HH GERTDED) 0802.31-000 2012410 TH ~121 Bar

[H % LT B ELA YR B ELA Y
304 7 AU T 5 AR 10001 | KG 0 0 39,507 362 14,311
o el 1000 | KG 0 - 0 39,507 362 14,311
HEREEIESES 1000 | KG 0 - 0 0 = 0
B GREBRWIZHD) 0802.32-000 2012410 H 1H~12H 25

E4 BT B= LA R B LA T
105 H3E A BEIGAN 1000 KG 25,480 987 25,152 358,587 742 266,199
210 77 A 10001 | KG 0 - 0 26,309] 1,010 26,559
234 Lo 1000 | KG 0 0 300 271
304 7 AUA G RE 10001 | KG 364,756 949 346,155 8,585,318 873 7,492,695
109 77U 100017 | KG 3,060 1,060 3,244] 3,060 1,060 3.244
i 1000 | KG 393,296 952] 374,551] 8,973,574 863] 7,788,968
AR EEIEST 1000 | KG 318,783 722 230,196] 8,277,369 694 5,741,850
~—P LS () 0802.21-000 2012410 TH~121 %ar

B2 LT B ELA YR B ELA Y
234 fLa 10001 | KG 0 - 0 14,600 156 6,653
304 7 AUA G R 100017 | KG 0 = 0 1,500 107 610
oD 1000 | KG 0 = 0 16,100 451 7,263
AR EEIEST 1000 | KG 0 = 0 630 481 327
~—B/LF Y GEERVTZHD) | 0802.22-000 2012410 TH~121 Zar

B2 LT B ELA YR B ELA Y
218 AAo 1000 | KG 0 = 0 3,200 693 2,235]
220 A ZUT 1000/ | KG 3,230 596 2,894 14,115 885 12,488
234 [l 10001 | KG 0 - 0 443,265 726 321,744
304 7 AUH G IR 10001 | KG = =
oD 1000 | KG 3,230 896 2,894 460,580 731 336,467
AR EEIEST 1000 | KG 3,400 816 2,775 619,541 602 373,246
~ AT I TV (G 0802.60-000 2012410 T~ T2/ e

[H % LT B ELA YR B ELA Y
601 A — ARV 10001 | KG 3,000 624 1,871 12,000 131 5,210
o ar 1000 | KG 3,000 624 1,871 12,090 131 5,210
FSERERE 10001 | KG - =
~ AT YT GRERCIZHO) | 0802.60-000 20127107 LA~ 127 750

[H 4 BT B= LA T B LA T
304 7 AU H 5 R [E 1000 KG 0 = 0 7,000 1,728 12,005
306 V77~ 100017 | KG 13,607 1,230 16,739 200,593 1,271 254,907
4110 792 )V 1000 | KG 0 = 0 11,340 1,202 13,636
541 =7 10001 | KG 0 - 0 206 2,274 514
551 73 ) 7)) 70 FEFN[E 1000 | KG 135,782 1,114] 151,241 333,057] 1,143 380,659
553 <77 A{ 100017 | KG 32.114] 1,080 34,685 380,899 1,182 450,342
601 A —ARTUT 100017 | KG 172,854] 1,338] 231,341 1,090,435] 1,376] 1,499,914
oD 1000 | KG 354,357] 1,225] 434,006] 2,023,550 1,291] 2,612,067
AR EEIEST 1000 | KG - -
~ATIXF Y (B—AD) 2008.19-221 201210 T~ T2 RET

[H % LT B ELA R B ELA Y
112 > HA—)b 10001 | KG 0 = 0 1,171 1,676 1,963
304 7 AUH 5 RE 1000 | KG 3,808 2,110 8,033 78,311 1,935 151,548
601 A —ARTU T 1000 KG 39,701] 1,154 15,824 265,590] 1,351 358,732
o el 1000 | KG 13,509] 1,238] 53,857 345,072 1,484 512,243
FSERERES 10001 | KG - =
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B —H 0802.90-300 2012410 TH ~121 Bar

S 223 B LA YR B LA Y
304 7 AV 7 0y 1000 | KG 26,533 1,154 30,613 183,874 1,233 226,793
551 73 7)) 70 JEFN[E 1000 | KG 0 = 0 500 712 356
601 A — AR T 1000 KG 0 - 0 257] 2,735 703
el 1000 | KG 26,633] 1,154] 30,613 184,631 1,234 227,852
HEREEIESES 1000 | KG 0 - 0 169,034 1,182 199,867
L—R 0806.20-000 2012410 H TH~12H %zl

ESEZ BT B= LA T B= LA R
105 H 3 N BCHE A 1000 KG 0 - 0 198,952 394 78,448
110 <FJ A 1000 | KG - -
123 AR 1000/ | KG 0 = 0 741 302 294
133 147 1000 | KG 0 = 0 3,638 650 2,365
218 A~A 1000 | KG 156] 1,455 227 716] 1,152 825
220 AZVT 10001 | KG 0 = 0 139] 3,424 476
230 XV ¥ 1000 | KG 0 = 0 1,680 516 867
234 [l 1000 | KG 74,331 239 17,751 1,518,970 231 350,577
304 7 AU BB A E 10001 | KG | 2,712,719 263 713,681] 21,751,817 261 5,670,558
409 FV 1000 | KG 61,280 218 13,338 564,538 214 120,667
113 TP T 1000/ | KG = =
551 7 7 ) 7 TN E 1000 | KG 17,500 239 4,177 240,750 231 55,581
601 A —AFTU T 1000 | KG 5,006 394 1.974] 156,096 332 51872
B Rt 1000/ [ KG | 2,870,992 262] 751,148] 24,438,037 259] 6,332,460
CEREEEST 1000 [ KG | 2,719,134 240| 653,506 24,216,573 242 5,864,163
AT (il 0813.10-000 2012410 TH~12H %ar

S 223 B LA YR B LA Y
NEE NS 1000 | KG 0 - 0 31,500 204 7,051
210 7T A 1000/ | KG 0 — 0 240 1,004 241
234 [l 1000 | KG 35,210 402 14,154 391,097 402 157,212
304 7 AU BB A E 1000 | KG 21,543 1,185 25,534 166,078 910 151,188
551 FA 7 7 VA FEFNE 1000 KG 0 — 0 46,750 397 18,550
o el 1000 | KG 56,753 699] 39,688 635,665 526 334,242
HEREEIESES 1000 | KG 55,563 573 31,812 514,382 570 293,652
7 )L— (Fa)E) 0813.20-000 2012510 H 1TH~12H 22T

ESEZ BT = LA T B= LA T
105 e N R IR [E 1000 KG = =
210 77 A 1000 | KG 1,400 549 763 68,776 341 23,486
220 A ZUT 1000 | KG = =
234 [l 1000 | KG 0 - 0 500 542 271
304 7 AU BB A E 1000 | KG 730,110 314  229,069] 9,768,033 285 2,785,115
409 F1 1000 | KG 0 = 0 46,000 207 9,538
RS % 1000 | KG 0 - 0 252 889 224
B 1000 | KG 731,510 314] 229,837 9,883,561 285] 2,818,634
FEREEES 1000 | KG 771,109 301] 232,364] 9,184,185 276 2,534,176
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SEE R FBHEAE A D KL, /NI OB NGB
T =R AL E 201259 T~121 Bar

ESE3 PiREAA BE WEHE PE BE WEHE PE
105 T3 N T JE A MT 0 0 0 0 0 0
(LA ) MT 0 0 0 0 0 0
PR A OE) 20127917 T~1201 %aF

ESE3 PiREAA BE WEHE PE BE WEHE PE
NEE NS MT 0 0 0 5,352 6,771 ~1,419
304 7 AU 1 5 IR E MT 0 0 0 58 75 —17
601 A —AFTU 71 MT 0 0 0 67 0 67
aar MT 0 0 0 5,477 6,346 -1,369
R R AL (B ) 201209 11 T~12H Rar

ESE3 B L B WEAE PR BE WEAE PR
105 H e N ECILFA[E] MT 13 0 13 6,709] 6,379 330
111 %A MT 0 0 0 0 0 0
123 AR MT 13 81 63 221 302 81
304 7 A5 MT 505 612 ~107 1,302] 6,507 —2.205
4110 7520 MT 91 18 13 164 65 99
411 577 A MT 0 0 0 0 0 0
113 7P Fo MT 534 24 510 1,319 138 881
551 /7 7 ) 70 JE AN E MT 687 701 —14 2,049 2,844 ~795
601 A — AR T MT 10 17 23 55 132 ~77
i MT 1,888] 1,483 105 14,319] 16,667 —1,848
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